Solution 3 - Iterator Design Pattern

package iterator;
inport java.util.*;
public class MList extends AbstractCol |l ection {
private class El enment {
bj ect dat a;

El enent next;
El ement (Obj ect d, Element n) {data=d; next=n;}

}
protected El ement head = null;
protected Elenment tail = null;

protected int count = O;

public bool ean add(Cbject o) {
if (tail==null) {

head = tail = new El ement (o, null);
} else {
tail = tail.next = new El enment (o, null);
}
++count ;
return true,

}

publ i c bool ean renove(Object 0) {
if (head==null) return false;
if (o.equal s(head.data)) {
head=head. next ;
--count;
if (count==0) tail=null;
return true;
}
El enent el= head. next;
El enent e2 = head;
whil e(el!l=null) {
if (o.equal s(el.data)){
e2.next = el.next;
if (el==tail) tail = e2;
--count;
return true;

e2=el;
el=el. next;

return fal se;

}

public Iterator iterator() {
return new ltr();

}

public int size() {return count;}

private class Itr inplements Iterator {

}

private Element current;

Itr() {

current = head;
}

publ i c bool ean hasNext () {
return current!=null;

}
public Ooject next() {
if (current == null)
t hrow new NoSuchEl enent Exception();
Object o = current.data;
current = current.next;
return o;
}

public void renove() {
t hrow new UnsupportedQperati onException();
}




